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QUESTION 1

Which of the following is FALSE? 

A. Groups are database-specifiC. 

B. A user can only be a member of one user-defined group. 

C. Groups cannot contain other groups. 

D. Groups must beenableD. 

Correct Answer: D 

 

QUESTION 2

Which of the following can be used to identify frequently executed queries? 

A. Monitor and Data Analysis Tables 

B. Monitor Server 

C. Query Processing Metrics 

D. sp_sysmonX 

Correct Answer: C 

 

QUESTION 3

Which table identifies the process that has the oldest active transaction and how long thattransaction has been open? 

A. master..sysprocesses 

B. master..syslogshold 

C. master..syslogins 

D. master..syslocks 

E. master..systransactions 

Correct Answer: B 

 

QUESTION 4

Which of the following are true regarding partitions? (Choose2) 

A. Tables may be partitioned logically as well as physically 



B. Global indexes may be created on each partition. 

C. Data in each partition may be processed differently. 

D. Global indexes can be clustered ornonclustered on range, hash, or list partitioned tables. 

E. Each partition must reside on its own segment. 

Correct Answer: AC 

 

QUESTION 5

Which of the following system databases will be built during an ASE installation? (Choose 4) 

A. master 

B. model 

C. sybsyntax 

D. sybsecurity 

E. sybsystemdb 

F. sybsystemprocs 

Correct Answer: ABEF 

 

QUESTION 6

Which database is most suitable for setting the "dsync" value to FALSE on its file systemdevice? 

A. master 

B. sybsystemdb 

C. sybsystemprocs 

D. tempdb 

E. model 

Correct Answer: D 

 

QUESTION 7

What will be the result if the \\'disk init\\' command is run to create a database device and no"vdevno" is specified? 

A. The command will fail but the operating system file will be created 

B. The command will create the device with avdevno assigned by the server 



C. The command will fail without any adverse affects to the server 

D. The command will function properly because the server no longer uses \\'vdevno\\' 

Correct Answer: B 

 

QUESTION 8

Which command can be used to find the longest-running transaction? 

A. select * fromsyslogshold 

B. select @@servername 

C. select * fromsysservers 

D. select @@version 

E. sp_lock 

F. sp_block 

Correct Answer: A 

 

QUESTION 9

Which subcommand can be used to generate a server configuration file containing thecurrently configured, but not
necessary active, configured values? 

A. write 

B. restore 

C. verify 

D. read 

Correct Answer: B 

 

QUESTION 10

Which of the following statements can be run against an allpages table? 

A. reorg reclaim_space 

B. reorg forwarded_rows 

C. reorg compact 

D. reorg rebuild 



Correct Answer: D 

 

QUESTION 11

Which database option must be set to run dbcc checkalloc in fix mode? 

A. dbo use only 

B. ddl in tran 

C. nochkpt on recovery 

D. select into/bulkcopy/pllsort 

E. single user 

Correct Answer: E 

 

QUESTION 12

What is the system stored procedure used to display metadata cache usage statistics? 

A. sp_configure 

B. sp_helpconfig 

C. sp_cacheconfig 

D. sp_monitorconfig 

Correct Answer: D 
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